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By 3% 4 Fn044£08 H 06 H eI Dt e/ 78 b (Biir)
fh 4 JE Hh &= Wae | %K F e T fE g2y ]
IENE AbE 10. 00 | #H%F 50 500 1, 620
H X k¥ 15. 00 | ¥ 726 10, 890 756 422 216
T D E S 10. 00 | #H%f 250 2,500| 1,048 888 432
E 9 NAE E B 4. 00| FH%f 44 176 4,320| 3,869 3,110
H % i 3. 00| FHxf 74 222\ 1,350 1,007 324
i A ] 1L 1. 00| FHxf 200 200 432 344 270
& | 5.00 Mixk| 150 75| 1,890 1,692| 1,350
A w5 5. 00 | FHx} 243 1,215 1,836| 1,549 864
& )| 0.50| fxt| 2,376 1,189 151 115 86
g OBO| 0.40| #A%t| 2,420 968| 151 40| 86
= =% 4. 00| FH%f 493 1,972 1,620 1,150 756
[\ 8 5. 00 [ AH%F 83 415 1,512 1,158 864
g OB | 500 fxt|  s31| 2,655\ 1,566 1,286] 810
v—< = 0. 15| FHx} 3, 355 506 59 54 49
I rell 10. 00 | #H%f 395 3,950 2,376| 1,469 756
_XF b= b eifEE 3. 00| FH*} 389 1,167 2,592 2,101 1, 620
ot tiEE | 0. 10| AHA 240 24 184 164 162
E i% | 2.00[4B%| 6] 32| 1,836 1,283 648
B = O JE 0. 50| FA%f 260 130 270
H i (i 5. 00| FHxf 243 1,215 2,160 1,820 756
E F JbiEE 10. 00 | AH*F 75 750 2,916
£ # & OE 10. 00| AHxf 1,019 10,190 2,268 2,014| 1,404
LA A £ ¥ 10. 00| FA % 910 9, 100 1, 404 1, 055 540
P=—VLF k¥ 4, 00| FH*} 529 2,116 1, 404 324
T ARG & 0. 10| fHxf 1, 459 147 216 130
Tayal— &k B 4. 00 | FHxF 30 120 2, 268
AMEE (i 0. 10| #H%f | 4, 500 450 140 103 54
ZDEHE & % 0. 20 [ A%} 300 60 66 42 39
AA fa—v £ ¥ 5. 00 [ #H %} 476 2,380 1,825| 1,490 1,307
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P g SR
ESR S TR = 1 =i Q1 IV NI )
Rz A F1044£08 H 06 H eI Dt e/ 58 k> (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

Yata— HF & 10. 00 | #H%f 632 6,320 5,508 4,957
=K w5 10. 00| AHxf 150 1,500| 7,020| 6,250| 4,752
e i SR 10. 00 | ¥ 205 2,050 8,100| 6,857| 3,240
PE A 5. 00| FHxf 177 885 3,240| 2,490
S (2 X K 0. 35| FHxf 140 49 508 446 378
B A — % [T 2. 00 [ FH %} 40 80| 3,240| 3,105| 2,700
B A4 0. 50 [ FHx%} 1,016 508 410 393 378
P (RS oAk L 0. 30 | FHx} 910 273 378 347 270
/NETE K H AR 10. 00| FA % 688 6,880| 4,536 3,749| 2,376




